(7

:uolrewuIojul [eaIuyda |
Ny :Sa|l Je|IWIS 10} 993

d

Ol ‘T'Z UOISIBA  ap‘weq sd:-mmm//:dn

T'T
INLH IA/RP Wweq sd mmm {/Te3A/ap wed sd mmm//

=)

Il

Measurement, T

V L o Y
www.ps.bam.de/YE91/10L/L91EOONA.PS/. TXT; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

M C

ransfer and Linearisation (MPostScriptCode

Four elementary colours, six device system colours amgb data interpretation asrgb*; or olv*; data
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ransfer and Linearisation (MPlostScriptCode

User friendly colorimetric colour notation ncu* and linear relation to three rgb*; data

Intended= (Ich%, — Ich¥5) = Min. or > (LCH*,jp — LCH?4 o) = Min.

YE910-7

-: BAM-test chart YE91; Colour image reproduction
Equivalent colours, output linearisation, colour notation
C M Y [e]

rgb*3v(; =010
H*, g = 162 degree

__________ InpUt_ — T ___OUtpUt__________ n* relat_ive blackness
rgb*Sir | | ???g_ar(! | g??garq _W1*Ou L ﬁ* r:lljr:;gxlo(rzsique) hue text
setcolor in oul| ||setgra
| | LCH*a‘in g y
tchy, | _Standarﬁg calctjlate _Standarﬁg [oV*30u | =0
setcolor Il TV18in e, 1 TV18ou || [|setrgb [T ol White W
nchf, ||| [[Device || calculatg [Device || [[cmy05o ]| | E2SUTS Py Chromatic
setcolor PRin PRou setcmyk X
5 steps n* =0
ncui, ||||/Device || |Device || [[000N™3q|] 5 steps ¢ =1
setcolor TVin TVou setcmyk BlackN ¢ relative chroma c*
n*=1
8 LCH*, data 8LCH*; data [CCH™, o =0  ¢*=0,50
LCH*3 in |setcolor ||
setcolor _
Ich™ g, example for colour notation:
-Setcolor r ncu* =0,25 0,50 I'25j

relative opponent ( r*, j*)chroma

u*;=j00g A J*
u* =r25j
F
u*g = g00b u*g = 100j
\/ i

u*g = b0Or

relative trichromatic CIELAB ( a%¥, b*) chroma

*
A b%

Or
Or

Or
Or

__________ Input- — T ———Output—————————— elementary| rgb | rgb data interpretation device system | rgb | rgb data interpretation
colours data | —>rgb* colours data | —> olv*
Win aE Stand_arq | Standar(! .Wi*OU L C’ =r50b systegm . hue s.ystem3 hue
setgray PR18in || rcr= -1 [lPR18ouf| [|setgray M’ = b50r LABY |H*ah* e u* LAB* |H*ah* e u*
a,in N
Mcalculate , Rred 100 |TLSO0a| 26 0,069 0,000 r00jO Orange red | 100 |TLS00a| 40 0,111 0,056 r23
olv*3in Standar Standard| [|olv'*3qy, CIEno. 9 TLS18a| 26 0,069 0,000 r0qj TLS18a| 35 0,097 0,036 r14
setrgb 1TV18in i h*l 1TV18ou|| [lsetrgb || T ORS183 26 0,069 0,000 r0dj ORS184 38 0,105 0,047 rl
n C | ml td L n a,0y Jyellow |110 |TLSO00a| 92 0,301 0,250 jodgY Yellow 110 | TLSO00a| 103 0,286 0,289 jldg
cmy0%;]| | |[Device || EE==EH |Device |} {fcmy0Ts]| (F=2 SEMTO] | ORoted 92 6301 0250 o ORS18] 96 0,268 0,264 1000
| Hop: H 1 H H I g , , 4 , ,
setcmyk[||[[PRin PRou setcmyk 1o 39
G green 010 |TLSO0a| 162 0,450 0,500 gODh Leafgreen |010 |TLSO0a| 136 0,378 0,406 639
. - ; CIE no. 11 TLS18a| 162 0,450 0,500 gOPb TLS18a| 137 0,380 0,411 j6dg
. *,
000n%y |f[[|Device | |Device || ||000N™30y| ORS184 164 0,455 0,500 gOOb ORS18d4 151 0,419 0461 j84
setcmyk]| | [TVin TVou setcmyk C' =g50b |011 |TLS00a| 217 0,603 0,625 g5PE Cyanblue |011 |TLS00a| 196 0,545 0,578 g3
TLS18a| 217 0,603 0,625 g50b TLS18a| 196 0,546 0,578 g3
* * ;
8 LCH*; data 8LCH* data |[LCH *a,0ul ORS183 217 0,603 0,625 g50b ORS184 236 0,656 0,669 g68b
*a,in setcolor B blue 001 [TLS00a| 272 0,756 0,750 bODV Violetblue |001 |TLS00a| 306 0,851 0,825 b3
LCH*,,
setcolor CIE no. 12 TLS18a| 272 0,756 0,750 bODr TLS18a| 304 0,845 0,822 b2
Ich™ oy ORS184 271 0,752 0,750 bopr ORS18d 305 0,847 0,822 b29r
Isetcolor [ M’ =b50r |101 | TLSO0a| 329 0,914 0,875 b50M Magenta red| 101 | TLS00a| 328 0,912 0,875 b5
TLS18a| 329 0,914 0,875 bS0r TLS18a| 328 0,911 0,875 b5
Inten s (Ich*~ — Ich*~) = Min. or > (LCH*> .~ — LCH* = Min. ORS184 329 0,914 0,875 bS0r ORS184 354 0,982 0,931 b72r
ende CN%ip — ICN%g 0 a,in a,0

rgb*3 ;=110
H*4 3= 92 degreq]

F

rgb*; x = 10,250
H*, x = 42 degree
X =(2540,25*67)degree

rgb*3 g =100

ah

\/ a*f

rgb*3 =00 1; H*, g =272 degree

H*a r = 25 degree

inpuisetgray / rgb setrgbcolor
output: no change compared to in
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